1.4

Practice - Fractions

Solve each equation.

21 13 3
1) i1+p)=2 2) —3=3k+3
. 6 3 8 29
3)0:_2(55—3) 4) sn—3=—14
11, 3 163
635 5 11 8) —X__202
3 . _9
9) 24 2= 03— ="3
3,7 3 12) T=2(r+3)—5z
1) $Inr1)=2 o s
14) (—Tk+1) - =1
13) —a—3(—Sa+1)=—=2 s(ma D7 )
1,2 3y 7 83
15) %5 _ 53, 5 16)=5Ge =9 =32="5
)5 =—3Gr—3 9 9y 10 53
17y 16 _ 44 4 18)5( +Z)_? B
)5 =—35(-3n-3) 45 7
20) 12_§x+§(:p_1)
19) —2=2(r—2)
8 4 2 74 3 3
22) c—gn=—3n+2(n+3)
11,3, 5 5
21) - 5 +350 z(b_g) 94 149 11 7 50_ 4.1
i . ) )_16_? 4 _Z<_§T+ )
23) —(—§$—2) —5tZ 7.5 1 11 25
25)§+3n — Iy 8 1 4 2 13
6 12 4 6 28) —g—ng—gﬂf—g(_fwfl)

Beginning and Intermediate Algebra by Tyler Wallace is licensed under a Creative Commons
Attribution 3.0 Unported License. (http://creativecommons.org/licenses/by/3.0/)



1.4

Answers to Fractions

1) {2} 11) {0} 22) {-1}
2) {4 12) {3} 23) {2}
3) {3} B){-3 24) {2
e 9 0 29 (-1
19 15) {—3
5) { -2 : 1
. 16) {1} 26) {3
O 17) {0) a7y {2
N{-+ s
1 s 2%) {3
8){—3 19) {1} \
9) {2} 20) {1} 29) {3}
10) {3} 21) {3} 30) {5}
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